


IS (cathode)

A7 ==t

Al

o
| i
Cathode :AgCl(s) + e~ = Ag(s) + Cl” (aq)

|
D)
(@\|
I_I
N\
o
S
\—/
+
9\l
=
N
T
N\
95)
\—/
=
S
()
go)
o
c
<




7| =2tst %‘(electrochemical =)

- X, HiEzZ| &
7‘17|-'?'-*H L} E5 SO AFEE[=
=L 2o =g,
PN
Galvanic cell : AtZA O 2 20

A=
=

7| H0|H XS







= CHLEHX|




2.3 8= eIt T= TIA

« A H A (cell potential, T 2})

= Cell potential difference
. MBI SS0 HFO| Mo what MYte wE

d

. HE7H00|H B

- MIHQlel 5F
- BEZO| MYRtE MOHH 3
- FAHII|FE (29 Ml ATLAE 0.0V 2 HH)

H,(g) 2 2H" (aq) + 2e~ (Pt)




1bar,
E=19 M, 2= 20 HEEZ2 0.0VE

7FALEl)
(Normal Hydrogen electrode, NHE)

1L
TT

N

=
=

m
I
0p)]
o)
©
o
]
D
(b]
(e
(b]
(@)
o
©
>
I
D
©
©
(e
O
<
rr
K
<q
{F
K
IH




) :

2| (electrode potential

| =7} 1mol/kg
M EU

—1
=

3

>3
Kl

eh
<
O

o]
<
®
T
=
£

15 2.3.3




F

o
(@)]
<
(@)]
<
-
vl
KH
~
A[d
ey
ofo
=
KF
K




(Pt)H, | H”
Ag | AgCl

Hg | Hg,Cl,

(= A3)

Hg | HgO

JH (aq) +2¢ =

AgCl(s) +e = Ag(s)+ Cl (aq)

Hg,Cl; + 2~ = 2Hg + 2Cl1 0.280

Hg,S0, + 2¢~ = 2Hg + SOj 0.613

HgO + H,0 + 2 = Hg+20H 0.098

X3 KCl, 0.197

E3} KCI, 0.2412 (SCE)
1N KCI, 0.2801 (NCE)
0.1M KCl1, 0.3337




S M=
= Fe(NO;), + Fe(NOy); + Pt T+ &l &AM A Fe?* 2 Fe3* 2| B SEH
= Fe?t 2 Fe3t + e (Pt)
= Nernst Equation

. _ o 4 RT, [Fe?']
E=E +nF1n[Fez+]
[Fe3*]
[Fe2*]

. E=0.77V+%1n




Daniel Cell
= Cu(s) 2 Cu®*(aq) + 2e~ (Cu)

= Zn(s) 2 Zn**(aq) + 2e~ 40

Nernst Equation
Ecy = 0.34 + —In[Cu?*]

Ezn = —0.76 + —_In[Zn?*]
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HESXt= 2. M2, potential

M 7|=}et A potential
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